ERARNE GrEME/NE) 1088 #E L #ES

1) 63 2 —6 3 1dz—3y @4 —4y—36 () 92° (6

) (=9)X(=6)+(=72)+(—8)=54+9=063

(2) —6°+4—(—3)=—-36+4+3=—-9+3=—6
(3) 3(22 +5y)+ 24z — 9y) = 6z + 15y + 8z — 18y
=6z + 8z + 15y — 18y
=14z -3y
(4) 6(z—3y—2)— 23 — Ty +12) =6z — 18y — 12— 6z + 1dy — 24
=—4y—36
(5) z2X(—=3zy)=zy’=2*X92% > zy’
:Jc2><9ac2y2
e
=923
© 2a—b a—3b _ 22a—b) a-—3b
2 4 4 4
_ 2(2a —b)—(a—3b)
4
_4a—2b—a+3b
4
_Sa+b
4

£a<800 2) 27° (3 z=9 (4) 119cm® (5 3

D 100 10

) @ 20 13 % &M% -2 a x<1+%> MChans

13
a X<1+W><800

113
T00¢ <800

Thbb
(2) ADCEIZBWT, WALAADOMENS LDCE=71°—38"=33°
AABCIZE=ZAKTHENS LACB=60°

UEMN>T  Lz=60"—33=27°

3a+b
4

@) ylkz THBITENS, HAESRE e LTBL y=az LETIENTES,

r=TDEXy=—28THBEH5

—28=a X7
a=—4
EoT  y=—4z
y=—4dz lZy=-36 xRATI L
—36=—4x
z=9
4) BP=5—-1=4(cm),
BQ=3(cm),

BR=5-2=3(cm)

THBMD, Sl BPQR OB %x(% ><4><3)><3:6(cm3)

SEAEROFEIE 5°=125(cm?®) TH3,
L72h>T, kb BRI

125—6=119 (cm?)

(5) 28D 1%, —1,, —1gkT53,

H—K || A—F | A
(=1a —1g}| —2]|[{-1s 1}] 0O
{-1a 0 | -1|{{-1s 2)| 1
(1o 1 | O[] (0,1} |1
(-10 2} | 1 0,2 |2
(=1p O [ —1[[ (L 2} |3

2RDH—ROBYVHBULAL, BMYELAEN— RIIEMNTOIHOMIE, EOFRD &

S35,
H— ROV H LA, LWTI0EYHS,
2D A1 — RIZEDPNTOSEOMMN 1122 2541
{=1a 2 {—1p 2}, {0, 1)
3

D3BYHENSE, RKDODHEERIT 0

a

FBF 300 A, &F 260 A 2) B 3 B

VEFELSEDERBEZELDD L, RDRDLSITLD.
B8F | &7 | At
WD IEAEH (A) = | y | 560

B E 72 1 U 7= A () liooz 2y

5

VEEDEEBMOBEFREN S
z +y =560
SEITHEZ EFBOBRNS
1095~ 7097 =5
£oT
z+y =560

105~ 7097 =5
@ DOWHLIZ 100 2215 &

6z — 5y =500
Dx5 52 + 5y = 2800

® +) 6z — 5y =500

1z =3300
2=300

=300 & O ILRALTHLS & y=260

EoT  BF300A, LT 260A

2)

O HRPeHLLTHMAENE, ERLLORRETNTNA, BLT5,

@ 2HA, BEZNETNFLELT, EULVEROMENL, TOREN12% C

LL, ERPCEUL,
@ EHRPCLEIIHOZZY, OZFube UTEREOPDOMEENL,
Dk, MOIE, APTEMRLIIETS,

3)
AABD ¥ AACEIZBWT AABC, AADE XIEE=ZAWTHEM15
AB=AC
AD=AE
ZBAD= /ZBAC— £ZDAC
=60°— ZDAC
ZLCAE= ZDAE— ZDAC
=60°— ZDAC
£oT ZBAD= ZCAE
O, @, @&V, 2:WLZOHEDANZNTNELVNS
AABD=AACE
BD=CE

EYs

U7 T



